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ENINEAO 1

(13 o€Aideg 30 epWTAOEIG)

INSTRUCTIONS TO CANDIDATES
OAHTIEZ MPOZ TOYZ AIATQNIZOMENOYZ

For each question, choose and circle the best answer A, B, C, or D, using the
answer sheet provided.

MNa kKGBe epwtnon, eTMAEETE KAl KUKAWOTE TN KOAUTEPN atravinon A, B, T A A
XPNOIMOTTOIWVTAG TO €I0IKO QUAAO yIa TIG ATTAVTACEIG OOG.
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KAAH ENITYXIA

1 Why does a trader prepare a statement of financial position?
A to calculate the profit for the year
B to check if assets equal capital plus liabilities
C to show the transactions which took place during the year
D to summarise what the business owns and what it owes
1 Mari évag emyeipnuaTiag ETOINALEI TN KATACTAON XPNHOATOOIKOVOUIKNAG
8éong;
A yIO VO UTTOAOYIOEI TO KEPDOG TOU £TOUG
B yla va eAEYEEI av Ta evEPYNTIKA OTOIXEIO ICOUVTAI PE TO KEQAAQIO GUV

TaONTIKG oTOIXEIA

r va O€igel TIC acuvaAAayEg TTou €yivav KaTd Tn SIGPKEIQ TOU £€TOUG
A va TTEPIYPAYEI TA TTEPIOUCIOKA OTOIXEIO AAAG Kal T XPEN TNG
ETTIXEIPNONG
2 Any increase in an asset may be offset by
A a decrease in some other asset account
B a corresponding decreases in owner’s capital
C an increase in another asset account
D a corresponding decrease in a liability
2 Mia augnon evog evepynTiKoU PtTopEi va e§oudeTepwOei atrd
A MEiwon o€ KATToI0 GAAO evepyNTIKO
B avTioToIXN MEiwon oTo KEPAAQIO
r augnon evog GAAoU evepynTIKOU
A QvTioTOIXN MEIWON VOGS TTABNTIKOU.



3 Which is a liability of a business?

A amount owing by credit customers
B amount owing to credit suppliers
C long term loan to employee
D property tax paid in advance
3 Mo16 gival TrTadnTIKO o€ Jia €miXEipnon;
A OPEINOPEVO TTOOO ATTO TTEAATEG HE TTIOTWON

B OQPEINOUEVO TTOOO OE TTPONNBEUTEG YE TTIOTWON
r MOKPOXPOVIO DAVEIO OE EPYATN YOG
A TTPOTTANPWTEOI POPOI aKivNTNG IBIOKTNTIOG

4 A business bought a computer for office use and paid by cheque.
How will the business record the transaction?

Account to be debited Account to be credited
A purchases office equipment
B office equipment bank
C bank purchases
D purchases bank
4 ‘Evag nAEeKTPOVIKOG UTTOAOYIOTHG aYyOpPAOTNKE Yia XPRon omé TO

YPa@Eio Kal TTANPWONKE pE eTITAYN.
Mwg Ba kataypa@Tei N o TTAVW ocuvaAAayn;

Aoyaplaopog rou Ba xpewoei Aoyapilacpudg rou Oa TICTWOEI
A ayopég €COTTAIOUOG ypaeiou
B eCOTTANIONOG ypageiou TpaTTeCa
r TpaTTECA ayopég
A QayopEg TpateCa
5 The following information has been extracted from a Statement of

Financial position (balance sheet) on 31° December 2016.
Non-Current Assets (Fixed assets) €25,000

Capital Balance at 1 Jan. 2016 €50,000
Long —term loan €5,000
Profit for the year €25,000
Drawings €10,000
Trade payables (Creditors) €15,000

What was the Working Capital on 31%' December 20167?

A € 60,000
B € 50,000
C € 45,000
D € 85,000



5 O1 TTapakdTw TANnpo@opicg éxouv efaxBei amrd éva 1coloyiopd tn 31"
Aegkepppiou 2016.

Mn-kukAo@opiaké (Mayio) EvepynTtikd €25,000
Apxiké KepdAaio 1 lav 2016 €50,000
Makpotrp68eopo Adaveio €5,000
Képdog éToug €25,000
AtroAqyeIg €10,000
Eptropikoi mIoTWTEG €15,000

Ti ATav To KE@PAAaio Kiviioewg Tn 31" AekeuBpiou 2016;

A €60,000
B €50,000
r €45,000
A €85,000

6 Elli allows Yianna a trade discount of 20% and cash discount 10%. Yianna
returned goods to Elli with a list price of €980. How is this recorded in
Elli’s books?

Debit € Credit €
A sales returns 1,274 Yianna 1,274
B sales returns 784 Yianna 784
C Yianna 784 sales returns 784
D sales returns 686 Yianna 686
6 H "EAAN Trapaxwpei eptropiki EKTTTwon 20% kol Tapeiaky Ekmrrwon 10%

otn MNavva. H MNdvva eméoTpeye eutropevpaTa o€ TIMA KaraAdyou agiag
€980 otnv 'EAAN. MNMwg Ba yivel n karaxwpnon ota BiBAia Tng "EAANG;

Xpéwon € MicTwon €
A EMOTPOYES TTWANOEWY 1,274 Tidvva 1,274
B ETTIOTPOPES TTWANCEWV 784 Tiavva 784
r MNavva 784 emOTPOYEG TTWANOEWY 784
A ETMOTPOYEG TTWANCEWY 686  Ndvva 686

7 Which one of the following pairs of ledger accounts is Nominal account?

A office equipment and rent payable
B cash at bank and cash in hand
C capital and trade receivables (debtors)
D advertising and interest received
7 Moié amé Ta akdéAouba {eiyn AoyaplaopWyV E€ival ATTOTEAECHATIKOI

Aoyaplaopoi;

€COTTANIOUOG ypageiou Kal EVoiKia TTANPpWTEQ
TPATTECQ KAl HETPNTA

KEQPAAQIO KAl EUTTOPIKOI XPEWOTEG
dla@NUIcEIG Kal TOKOI EI0TTPAKTEOI

> w >
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8 On 1 January the motor expenses accrued account had a credit balance
of €135.
During the year payments of €462 were made. On 31°' December €74
remained unpaid. Which amount was transferred to the income statement
on 31 December?

A €462
B €401
C €523
D €671
8 Tnv 1" lavouapiou o Aoyaplaouog o@eIAGpeva €080 QUTOKIVATWY EixXE
MOTWTIKO utréAoimmo €135. Katd T1n O1dpkeia Tou £€Ttoug E£yivav

TANPWHES yia €462. 211 31 Asgkepppiou TTapapével ATTARPWTO
ummohoitto €74. TMoié6 Tmood €xel  PeTaQPePOBeEi OTN  KATAOTOON
atroteAeopdTwy oTig 31 Aekeuppiou;

A €462
B €401
r €523
A €671

9 Andreas issued an invoice to Aggelo for €2,000. After receiving 60% of
the invoice value from Aggelo, Andreas decided to write off the balance.
Which entries would Andreas make to write off the amount outstanding?

Account to be debited € Aaccount to be credited €
A Aggelo 1,200 irrecoverable debts 1,200
B irrecoverable debts 1,200 Aggelo 1,200
C Aggelo 800 irrecoverable debts 800
D irrecoverable debts 800 Aggelo 800

9 O Avdpéag ékdwoe éva TIMOAGYyIo oTov AyyeAdo yia €2,000. MeTd TTOU
ciompage 1o 60% TOU TTOOOU ATTOPACICE va Siaypdyel TO utTOAoITTO.
Moid Ba gival n eyypa@n TTou Ba Kavel o Avdpéag yia Tn diaypagn Tou
TTOOOU TTOU EKKPEUEI;

Xpéwon € mioTWON €
A Ayyelo 1,200 aTTwAEIES atrd xpewoTeg 1,200
B atTwAegleg atmd xpewoTeg 1,200 Ayyelo 1,200
r Ayyeho 800 aTTwAEIES atro xpewoTeg 800
A ATTWAEIEG ATTO XPEWOTEG 800 Ayyelo 800
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11

11

Motor vehicle repairs, €2,000, were treated as a capital expenditure.
Motor vehicles are depreciated at 20% per annum on cost. What is the
effect of the above treatment?

A overstated profit €1,600 overstated motor vehicles €1,600
B overstated profit €2,000 overstated motor vehicles €2,000
C understated profit €1,600 understated motor vehicles €1,600
D understated profit €400 understated motor vehicles €400

‘E¢oda yia emidi6pOwon autokiviTou, €2,000, £xouv TTOPOUCIACTEI oAV
Ke@aAalouxikd £§oda. Ta auTtokivnra amroofévovral pe 20% 10 £€T0G OTN
TIMA KOoTOUG. TI €ival n eTidpacn Tou 1o TTAvVw XEIPICUOU;

A uttepTiunon képdoug €1,600 utTEPTiUNON auTtokivTwy €1,600
B uttepTipnon képdoug €2,000 UTTEPTIMNON auTokiviTwy €2,000
r utroTiynon képdoug  €1,600 utroTiunon autokiviiTwy  €1,600
A utroTiynon képdoug €400 UTTOTiNOT QUTOKIVATWVY €400

A Machine which cost €20,000 is depreciated at 20% per annum using
the diminishing (reducing) balance method. What was the net book
value after two years of the machine?

A €7,200
B €12,000
C €12,800
D €16,000

‘Eva pnxdavnua 1o otroio kéotioe €20,000 éxe1 amrooBeocOei pe 20% TO
£T0G Xpnoigotroiwvtag Tn @Bivouca pédodo. Ti ATav n kaBapn pn
amroofeoBeica agia Tou unxavpaTog HETA atrd dUo Xpovia ;

A €7,200
B €12,000
I €12,800
A €16,000

12 Lola provided the following information about her delivery van.

Cost price €12 800
Net book value at end of year 1 €8 960
Net book value at end of year 2 €6 272

How did Lola depreciate her van?

Method annual rate %
A diminishing balance 30
B reducing balance 70
C straight line 30
D fixed instalment 70



12 H AbéAa rapéBeoe TIG IO KATW TTANPOPOPIEG OXETIKA UE TO QOPTNYO TNG.
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14

14

Tign kéoToUg €12 800
KaBapn agia oto TEAOG TOU TTpwTOU éTOUG €8 960
KaBapn adia oto TEAOG TOU deuTépou €Toug €6 272

NMwg n AdAa éxel atrooBéoel TO opTnyO TNG;

MéBodog €TAO10 TTO000TO %
A MEBODO YBivouoag atmooBeong 30
B MEBODBO YBivouoag amméoBeong 70
r MEBODO oTaBEPAG aTTOOREONG 30
A MEBODO oTABEPAG aTTOCRECNG 70

What is prepared to show the trading results for a financial year?

A trial balance

B capital account

C income statement

D statement of financial position

Ti eTolpdadeTan yia va dei§oupe Ta ATTOTEAECUATA EVOG
XPNHATOOIKOVOMIKOU £TOUG;

A 100QuyIo

B Aoyapliaouog kepalaiou

[ kaTdoTaon ATTOTEAECUATWYV

A KardoTaon XPnUOTOOIKOVOUIKNAG B€0Ng

At the year-end a business wrote off an irrecoverable debt (bad debt).
What is the effect of this?

A capital reduced and current assets reduced

B profit reduced and non-current assets reduced

C current liabilities increased and current assets reduced

D current assets increased and non-current assets reduced

210 TEAOG MIOG AOYIOTIKAG TTEPIOdOU, HIa £TTIXEipnon éxel diaypdyel
aTTWAEIEG aTTO XpewOoTeS. Ti Ba ernpedoel n diaypa@n auThy;

A uegiwon Ke@aAaiou Kal JEIWON KUKAOPOPIAKOU EVEPYNTIKOU

B ueiwon k€EPOOUG Kal PEIWOT PN KUKAOQOPIAKOU EVEPYNTIKOU

F au&non KukAo@opiakoU TTadnTIKOU Kal PEiwan KUKAOQOPIAKOU EVEPYNTIKOU

A augnon KUKAOQOPIaKOU eVEPYNTIKOU KAl PEIWON KMN KUKAOPOPIOKOU
EVEPYNTIKOU



15 Costas pays rent quarterly in advance on 1% January, 1% April, 1% July and

15

16

16

17

1% October each year. The annual rent was increased from €60,000 per
year to €72,000 per year as from 1°' October 2015. What was the rent
expense in the income statement for the year ended 30 June 20167

A €63,000
B €70,000
C €69,000
D €62,000

O KwoTag TpotrAnpwvel To £voikio Tou Thv 1" lavouapiou, 1" Atrpidiou,

1" louAiou ka1 Tnv 1" OkTWRpPiIou KABE XPO6vo.To €TAOIO £VOIKIO TOU EXEI
augnOsi até €60,000 oc €72,000 To £éTog amd TNV 1" OkTWRpPiou 2015. T
ATAV TO 1000 €VOIKIOU TIOU TrAPOUCIACTNKE OTn KATAoTAON
ATTOTEAEOUATWY YIa TO AOYIOTIKO £T0G TToU £Ange Tnv 30" louviou 2016;

A €63,000
B €70,000
r €69,000
A €62,000

The owner of a business takes goods for his own use.
How is this recorded?

Account to be debited Account to be credited
A drawings inventory
B drawings purchases
C drawings sales
D purchases drawings

O I1310KTATNG HIAG ETTIXEIPNONG TTAIPVEI EYTTOPEUUATA VIO TTPOCWTITIKH TOU
xpnon. Nwg Ba gival n kataxwpnon;

Aoyaplaopog rou Ba xpewBei Aoyapilaocpudég rou Oa TIoTWOEI
A QTOMIKEG ATTOAAWYEIG EMTTOPEUPATA
B OTOMIKEG ATTOAAWEIG ayopEg
r QATOMIKEG ATTOANYEIG TTWAROEIG
A QayopEg QATOMIKEG ATTOANWEIG
A trader provided the following information.
€

1 April 2015 capital 25,000
31 March 2016 assets 75,000

Other Liabilities 36,500
Drawings during the year 7,500
What was the profit for the year ended 31 March 20167
A €46,000
B €13,500
C €38,500
D €21,000



17  "Evag EMTTOopog TTAPOBETEI TIG TTIO KATW TTANPOYPOPIES .

€
1" AtrpiAiou 2015 KE@AAaio 25,000
31 Maptiou 2016 EVEPYNTIKA 75,000
AAAa TTAONTIKA 36,500
OTOMIKEG ATTOANYWEIG KATA TN SIAPKEIA TOU £€TOUG 7,500

Ti ATav To kKEPSog Tou yia To £T0¢ Trou £Ange Tnv 31" MapTiou 2016;

A €46,000
B €13,500
r €38,500
A €21,000

18 Mary’s revenue for the year was €100,000 and her expenses were
€20,000. Her profit for the year was 10% of revenue. What was her gross

profit?
A €30,000
B €70,000
C €90,000
D €110,000

18 Oi1 eTRolEg TTwARoEIg TG Maipng Arav €100,000 kai Ta £§oda TG ATAV
€20,000. To eTROI10 TNG KEPSOG ATAV 10% TWV TTWARCEWYV. TI ATAV TO HIKTO

TNG KEPDOG;
A €30,000
B €70,000
r €90,000
A €110,000

19 The total of the Discount Received column which appears in a Three
Columns Cash Book is transferred to:

A The Credit side of Discount Received account
B The Debit side of Trade payables account

C The Debit side of Discount received account
D The Credit side of Discount Allowed account

19 To dBpoicua TnG oTAANG Ekmrwoeig Aappavopeveg mTou BpiokeTal o€
TpiotnAo BipAio Tapgiou petagéperai:

21N TTioTwon Tou Aoyapiacuou Exkmrtwoeig AapBavoueveg
21N Xp€waon Tou Aoyapiaopou MoTwTég

21N Xpéwaon Tou Aoyapiacuou EkTTwoeig Aaupavoueveg

21N TTOTWON Tou Aoyapiacpuou EKTITwoeig XopnyoUuuEveg

> w >



20 The cash book shows an overdraft of €1,500. There are unpresented

20

cheques of €350 and uncredited deposits of €150.
What is the balance on the bank statement?

A €1,300 CR
B €1,300 DR
C €1,700 DR
D €1,700 CR

To Tapeio deixvel raparapnypa €1,500 otnv Tpameda. Emtayiég €350 dev
£Xouv TrapouoiaocTei Kal Kataféoelg €150 dev Exouv akOun TIOTWOEI.
Ti gival To utréAoiTro oTn TPATTECIKN KATAOTAON;

A €1,300 CR

B €1,300 DR
r €1,700 DR
A €1,700 CR

21 The following account appeared in Soula’s ledger.

21

Antony account

€ €
May 1 balance b/d 400 May 16 returns 21
12 sales 590 28 bank 284
28 discount 6
31 balance c/d 679
990 990

Which statement is correct?

A On 12 May Antony sold goods, €590, to Soula.

B On 16 May Soula returned goods, €21, to Antony.

C On 28 May Antony received discount, €6, from Soula.
D On 31 May Soula owed €679 to Antony.

O M6 KATW AoyapylaoHog £XEl EH@avIoBei 0TO KOBOAIKO TNG ZoUANG.

Aoyapilacpuég Aviwvn
€ €
Mcdiiou 1 YméAoimro 400 Mdiou 16 EmioTpog@ég 21
12 NwARoeig 590 28 Tpdamela 284
28 EKTTTwOoEIg 6
31 YméAoimmo 679
990 990

Moid a1rd TIG TTEPITTTWOEIG Eival CWOTH;

211G 12 Mdiou o Avtwvng TTwAnoe eutropelparta €590 oTn ZoUAa.
2116 16 Mdiou n ZoUAa eTméoTpewe euTTopeUpaTa €21 ato Aviwvn.
2TIG 28 Mdiou o Avtwvng TTAPE EKTITwoN €6 atmd Tn ZoUAQ.

2116 31 Maiou n ZoUAa xpwoTtd €679 atov Avtwvn.

> W >
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22

23

23

24

24

Irrecoverable debts previously written off are recovered in a later
financial year. The double entry to reinstate the debt in the accounts
would be:

A Debit the profit or loss account and credit the trade receivables account

B Credit the irrecoverable debts recovered account and debit the trade
receivables account

C Debit the Bank account and credit the trade receivables account

D Credit the irrecoverable debts account and debit the trade receivables
account

AVEIOTTPOKTOI XPEWOTEG TOU  dlaypd@nkav, &elomTpaxdnkav o€
METAYEVEOTEPO OIKOVOMIKO £T0G. H gyypa@n yia erava@opd Tou XpEoug
OTOUG AoyaplaouoUg gival va:

A XPEWOEI 0 Aoyaplaoudg aTToTEAECUATWY Kal va TTIoTWOEI 0
Aoyaplaoudg XpEWOTES

B TMOTWOEI 0 AoyapIiaoudg eI0TTPAEEIS SlayPAPEICWY ATTAITACEWYV Kal VA
XPEWOEI 0 Aoyaplaoudg XPEWOTEG

r XPewOei o Aoyaplaoudg Tpdtreda Kai va TTIoTwOei o Aoyapliaoudg
XPEWOTEG

A TMOTWOEI 0 AoyapIiaoudS ATTWAEIEG ATTO XPEWOTES KAl va XPEWBEI 0
AoyapIiaoudg XPEWOTEG

Which financial statement is used to show what the firm owns?

A Statement of profit or loss/income statement
B Statement of financial position/Balance sheet
C Capital account

D Statement of Bank Reconciliation

Moid 0IKOVOHIKN KATAOTAON MOG UTTOBEIKVUEI TI AVAKEI OTN £TTIXEIpNON;

A KATAOTAON ATTOTEAEOUATWYV

B XPNUATOOIKOVOIKI) KATAoTAON

r Aoyaplaoudg Ke@aAaiou

A KaraoTaon eTaAfBguong Tou Aoyaplaouou TnG TPATTeECag

Which of the following can never be a current asset?

A Investments

B Bank Overdraft

C Trade receivables
D Inventories

Moi6 a1dé Ta ak6Aouba dev urTopEi TTOTE va gival KUKAOQOPIOKO
EVEPYNTIKO.

A eTTEVOUOEIG

B TPOTTECIKO TTOPATPARNYHA

r XPEWOTEG

A ATTOOEPA EUTTOPEUPATWIV

10



Calculate the balance of Trade Receivables account, using the following
data:

Working capital €15,000
Non - Current assets €60,000
Capital €75,000
Current liabilities €25,000

Current assets (excluding Trade Receivable balance) €35,000

The balance of Debtors account is:

A € 5,000
B €75,000
C €40,000
D €10,000

Na utroAoyiceTe TO UTTOAOITTO TOU AOYapPIOCHOU XPEWOTEG
XPNOIMOTTOIWVTAG TA TTI0 KATW dedopéva:

Ke@dAaio Kivhong €15,000
Mayio evepynTiké €60,000
KegpdAaio €75,000
Bpaxumpo0eopo radnTikd €25,000
KukAo@opiako evepynTiko

(XwpPig TO UTTOAOITTO TWV XPEWOCTWYV) €35,000

To utréAoitro Tou AoyaplaopoU XpeWOTES Eivai:

A € 5,000
B €75,000
r €40,000
A €10,000

Elena has the following balances in her accounts

Purchases € 48,000
Carriage outwards € 800
Carriage inwards € 1,000
Returns inwards € 5,000
Returns outwards € 3,000
€

Discount received 2,000
Opening inventory € 10,000
Sales/Revenue €100,000
Closing inventory € 12,000

What is Elena’s cost of sales?

A €42,000
B €43,000
C €44,200
D €44,000

11



26

27

27

28

H ‘EAeva éxel Ta TI0 KATW UTTOAOITTA OTOUG Aoyapliaopuoug TnG:

Ayopég € 48,000
MeTa@opég TTwWARCEWV € 800
MeTagopég ayopwv € 1,000
EmioTpo@ég TWARCEWV € 5,000
EmioTpo@ég ayopwv € 3,000
EKTTTWOEIG EI0TTPOKTEEG € 2,000
ApXIKO a1TréBepa EPTTOPEUNATWV € 10,000
NwARoeig €100,000
TeAIKO aréBepa EPTTOPEVNATWV € 12,000

Molo gival To KOOTOG TWV TTWARCEWYV TNG 'EAgvag;

A €42,000
B €43,000
r €44,200
A €44,000

Elias acquired a new machine on 1 July 2014 at a purchase price of
€100,000 and installation expenses of €26,000. The machine has an
expected 4 year useful life and a salvage value of €6,000. If Elias
uses the Fixed Instalment method of depreciation, what is the

depreciation expense at the end of the accounting year 31 December
20167

A €31,500
B €90,000
C €96,000
D €30,000

O HAiag amréktnoe pia kaivoUpyia punxavy Tnv 1" louAiou 2014 pe TiuR
ayopdg €100,000 kai pe €§oda eykardotaong €26,000. H pnxavin
utroAoyideral va £xel Xpoiun (wn 4 eTwv Kail utroAsippaTikig agia €6,000.
Edv o HAiag gpapupoler Tn orabepny péBodo amdéofeong, T gival n
amrdéoBeon yia To AoyIoTIKO €T0G TTOU TeAgiwoe oTig 31 Aekeufpiou 2016;

A €31,500
B €90,000
I €96,000
A €30,000

Where trade discount is shown?

in the cash book

in the personal accounts in the ledger
in a discounts account

in an invoice

o0Ow>
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Mou Ba ep@avioTEi N EUTTOPIKN EKTTTWON,;

A OTO TAMEIO

B OTOUG TTPOCWTTIKOUG AOYOPIOOUOUG OTO KABOAIKO
r OTOUG AOYapIAOUOUG EKTTTWOEWV

A OTO TINOAGYIO

Which of the following should be treated as revenue expenditure for a
sole trader?

A €2,000 for drawings of goods.

B €1,000 taken by the owner for private use.

C €200 for cleaning his office

D €600 to purchase a desktop computer for office use.

Moié amdé Ta akdAouBa Bewpeitalr AeiToupyiké £€§odo yia éEvav
EMIXEIPNMATIA];

A €2,000 yiao atopIKEG ATTOAAWEIG.

B €1,000 1ApE 0 IBIOKTATNG YIa TTPOCWTTIKI) TOU XPROM.

r €200 yia kaBapioud Tou ypageiou

A €600 yia ayopd evog NAETPOVIKOU UTTOAOYIOTH

Alex pays for her telephone calls quarterly in arrears. The amounts paid
included €100 on 1 February 2016, €120 on 1 May 2016 and €150 on 1
August 2016. It is estimated that the next bills will be €150 per quarter.
How will the above appear in the Income Statement for the year ended
31 October 20167

Debit €520 expenses and a current asset of €150 in the statement of financial
position

Debit €370 expenses and a current liability of €150 in the statement of
financial position

Credit €520 and with no entry in the statement of financial position

Debit €520 expenses and a current liability of €150 in the statement of
financial position

H "AAe§ TAnpwvel Ta TNAEQWVIKA TG £€§08a 0TO TEAOG KABE TpIiuAvou. Ta
Tood TTou TTARpwoe ATav €100 tTnv 1" PeBpouapiou 2016, €120 Tnv 1"
Mdiou 2016 ka1 €150 tTnv 1" Auyouotou 2016. YTtroAoyietai OTI Ol
utréAoitrol Aoyapiaopoi TnAsepwvou Ba gival €150 yia kaG0e Tpipnvo.

Mwg B8a gp@avicBouv Ta MO TTAVW OTN KATACTAOT OTTOTEAECHATWY YIA
TO £T0G TroU TeAciwoe TV 31" OkTWRpPiou 2016;

Xpéwon €520 £€oda kal evepynTikO €150 0TN KATAOTAON XPNUATOOIKOVOUIKAG
Béong

Xpéwon €370 £€oda kal TTadnTIKO €150 0TN KATAOTACN XPNMOTOOIKOVOUIKNAG
Béong

[MioTwon €520 xwpig Kapia eyypaer) oTn KAataoTaon XPNHOTOOIKOVOUIKNAG
Béong

Xpéwaon €520 £¢o0da kal TTabnTiko €150 0Tn KATACTOON XPNHUATOOIKOVOUIKAG
Béong

--- TEAOS ---
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